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I. Not Missing the Boat Questions

1) For which days of nm20 is a w21 2917 invalid? Why is it 9105?

2) For which days of m>10 is a stolen 2717 invalid? And what is the ™p» for the 17?2

II. nw7 that Emerge from the 07 Questions

1) (Based on *"w1 on the :v> 71210 mwn) What’s the 2pn that a stolen 2717 is 9109?

2) (According to *"wn) What’s the 2pn that a w2°7 297 is 2109?

3) On what basis is a nn7°17 %Y 5w 2717 invalid?

4) What’s the mpn. that 7772y IR27 MX» is unacceptable? (And what is the context of the mpn?)

III. The npown List with Questions

910D was avd "'y
- According to the MmN *9v3, what’s the Mpn that w2 2717 is 71097
- How dried out must a 2717 be to be 109? And from what context in 0"w do the *%ya
Mmoo derive this My w?

WNRT avel "7
- According to the mo0In77 *9v3, which of the 2717’s leaves must be ovp1 for it to be 2109?

X981 :7"'7
- According to the maoINT *9¥2, what does "1y 1¥7191" mean? And how many of the 2717’s
leaves must be "x7 101" for the 2717 to be 7105?
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- Innpon’s X"7and 710N, is the requirement of "777" a XNMRT 17, or a 112717 17?7
- Why is there a difference between the requirement of "277" versus the requirement that a
2917 not have been stolen/borrowed with respect to the latter days of m210?

TvaAva NS RN 70 T awen 'Y
- According to the mo0In7 *H¥3, is the concept of 77°2Y2 IRAT XN a RNPNRT PT, ora 17
112777
- According to the mo0In7 *%v3, why doesn’t 77PWR 5w 2917 involve 7702y nxan mxn?

HINWD RIPY Tnn 'Y
- According to >33 12 prx> "/o%mw, under what circumstances does/doesn’t X277 ¥
77223 apply (with respect to 2111 2919)?
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